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13. A particular solution, y,, of y” — 4y’ + 3y = 2t + €' is
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14. If y” + 5y’ + 6y = 24et, y(0) =
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0, y'(0) =0, then y(1) =



15. The dlfferentlal equation 3" — 2y’ + Zy = 0 has solutions y;(t) = ¢ and yo(t) = % If
y' —2y'+ 2y=2,y(1)=0and y’ (1) 0, then y(2) =
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17. A spring-mass system is governed by the initial value problem z"+4z'+4x = 4coswt, z(0) =
0, z’(0) = —2. For what value(s) of w will resonance occur ?

A0 B:2 C.4 D2L0 <0 value of w

FaYr 44 =0 %:A[osw+6§mwﬁ/

(r+aY=0 = (e (wt- @)
r=-2-2 »
/;cs C/é%'l' 6.2’&5 EZSOWZG{; CﬂWm?L éﬂ/ﬂ/ﬁém /

2
Fricton: 1 +cr+4=0

_ ~lb
UMJNV&MWX_’ 60’}3 )"l) Y, = 5_' + _c//‘ [Dmf/OX



19. Rewrite the second order equation 2u” + 3u’+ k

u = cos 2t as a system of 15 order equations.
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